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3 E x AEHRECE
B AR R|HFER ik | B #
HAER | ETE BH| B R AL B H%|H28| HER | 1BIEE | Mg
BN | ETE | BLTE LD | 3 T
B

o 6.8 11.1]  A43 1.8 0.8 20.1 9.5 10.6 3.2 2.5 0.7 43 1.6

I B2 6.1 11.5|  A54 1.8 0.8 16.8 8.3 8.6 2.1 1.6 0.6 35 1.4

| ERBK 6.8 9.7 A29 3.0 1.1 14.2 5.3 9.0 1.5 0.8 0.8 4.0 1.6

S ERUNE 6.8 96| A 29 2.9 0.6 13,5 4.0 9.6 1.1 0.6 0.6 4.0 1.7

PET 5.9 104  A44 1.7 - 12.7 26 10.2 - - - 3.7 1.9

EBET 6.4 96| A32 1.1 - 17.0 5.4 11.7 - - - 3.6 1.4

PISARE 9.0 8.8 0.2 2.3 23 6.9 23 46 46 2.3 2.3 5.3 2.1

sz 9 AT 10.5 7.3 3.2 3.7 3.7 10.9 3.7 7.3 74 37 3.7 6.3 22

R N | 7.3 105| A32 — - — - — - — - 4.3 2.0

bU4—INEE 6.8 98| A3.1 3.3 2.2 15.4 7.7 7.7 2.2 1.1 1.1 4.2 15

1T 44 139] A96 - - 17.9 - 17.9 - - - 2.8 1.0

Wmim 8.9 7.4 15 2.0 - 19.5 9.8 9.8 20 2.0 - 5.4 2.0

AEMN 5.0 11.5|  A6.5 6.1 6.1 12.1 12.1 — 6.1 — 6.1 3.0 1.0

A EERET 6.7 85| A19 8.3 8.3 - - - - - - 4.1 15

it 5 Hr 6.7 85 A19 8.3 8.3 — - — - — - 4.1 1.5
<BLEOEHAZE>

WA - - 1R BEE R =1 EROEH 108 1 BEED A DO x 1,000
BEAREME=(1EHOEER - 1FRDOETEH) 1081 BEED AD x 1,000
WMIEER(BAREER- ATRER) =RE(BA- AL HE (HAE+JEE) £ x 1,000
BERECEREHERECE- BEHRFERECTR)=3LRETHEER - BHAHE R,/ H £ % x 1,000
W EERRTR=1FIRHE22:BLEDOIEER+ BRI EIRFETH. HE(H £ B+ 1T IR%2258 LU % D FE FE 2R %R x 1,000
WIT RS 2238 LAtk O 36 B2 R = TR 22:8 LARE D FEEE S~ B B (W A 3+ 0T iR3m22:8 LR D FEEESR) x 1,000

XEERVIKEROKIEIX. BEFBELAKE

<FEHWHICAW=-AO>

2EOAQ:SM25 1081 BIREHET A O (RIEEHK
IFEREEDOAD : §F2E108 1 BMAEHEET A O (81

HETDOAD : §M2F10A 1 BRAHST A O (BHETE




